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1. ��%��$& $���'�� �$��$���/ ��%&�����/ 
1.1.�5?4EFL ?D<<5=5=<O ?D>7D4<<O 

$45>G4O ?D>7D4<<4 GG55=>= 4<EF<??<=O «$<7<G5E>4O >G?LFGD4» O6?O5FEO G4EFLN 
>5D47>64F5?L=>= ?D>7D4<<O ?>47>F>6>< E?5F<4?<EF>6 ED54=57> 765=4 6 E>>F65FEF6<< E $��% %�� 
?> E?5F<4?L=>EF< 38.02.03 «�?5D4F<>==4O 45OF5?L=>EFL 6 ?>7<EF<>5». 
1.2.�5EF> 4<EF<??<=O 6 EFDG>FGD5 >E=>6=>= ?D>D5EE<>=4?L=>= >5D47>64F5?L=>= ?D>7D4<<O 

'G55=4O 4<EF<??<=4 «$<7<G5E>4O >G?LFGD4» O6?O5FEO 4<EF<??<=>=, 6E>4OM5= 6 EFDG>FGDG 
?D>7D4<<O ?>47>F>6>< E?5F<4?<EF>6 ED54=57> 765=4. 
1.3.&5?< < 7444G< GG55=>= 4<EF<??<=O - FD55>64=<O > D57G?LF4F4< >E6>5=<O GG55=>= 
4<EF<??<=O 

�D>7D4<<4 4<EF<??<=O >D<5=F<D>64=4 =4 4>EF<65=<5 E?54GNM<E  
F5?5=: 
-.D476<F<5 D<7<G5E><E >4G5EF6 < E?>E>5=>EF5=, 
- E>65DL5=EF6>64=<5 DG=>F<>=4?L=OE 6>7<>6=>EF5= >D74=<7<4, G>D5??5=<5 
<=4<6<4G4?L=>7> 74>D>6LO; 
- D>D<<D>64=<5 GEF>=G<6OE <>F<6>6 < ?>FD55=>EF5= 6 55D56=>< >F=>L5=<< > E>5EF65==><G 
74>D>6LN, 6 74=OF<OE D<7>G?LFGD=> - >74>D>6<F5?L=>= < E?>DF<6=>->74>D>6<F5?L=>= 
45OF5?L=>EFLN; 
- >6?445=<5 F5E=>?>7<O<< E>6D5<5==OE >74>D>6<F5?L=OE E<EF5< D<7<G5E>>7> 6>E?<F4=<O, 
>5>74M5=<5 <=4<6<4G4?L=>7> >?OF4 74=OF<= E?5F<4?L=>-?D<>?44=O<< D<7<G5E><<< 
G?D46=5=<O<< < 547>6O<< 6<44<< E?>DF4; 
- >6?445=<5 E<EF5<>= ?D>D5EE<>=4?L=> < 6<7=5==> 7=4G<<OE ?D4>F<G5E><E G<5=<= < =46O>>6, 
>55E?5G<64NM<E E>ED4=5=<5 < G>D5??5=<5 D<7<G5E>>7> < ?E<E<G5E>>7> 74>D>6LO; 
 ->E6>5=<5 E<EF5<O 7=4=<= > 74=OF<OE D<7<G5E>>= >G?LFGD>=, <E D>?< < 7=4G5=<< 6 
D>D<<D>64=<< 74>D>6>7> >5D474 6<7=< < E>F<4?L=OE >D<5=F4F<<; 
- ?D<>5D5F5=<5 >><?5F5=F=>EF< 6 D<7>G?LFGD=>->74>D>6<F5?L=>= < E?>DF<6=>= 45OF5?L=>EF<, 
>6?445=<5 =46O>4<< F6>DG5E>>7> E>FDG4=<G5EF64 6 >>??5>F<6=OE D>D<4E 74=OF<= D<7<G5E><<< 
G?D46=5=<O<<. 
�D< <7GG5=<< 4<EF<??<=O D<7<G5E>4O >G?LFGD4 ?5D5G<E?5==O5 6OL5 F5?< 4>?>?=ONFEO 

D5L5=<5< 7444G, =4?D46?5==OE =4 G>D5??5=<5 74>D>6LO, ?>6OL5=<5 D<7<G5E>>7> ?>F5=F<4?4 
D45>F>E?>E>5=>EF< >5GG4NM<EEO, =4 D>D<<D>64=<5 G =<E 6<7=5==OE, E>F<4?L=OE < 
?D>D5EE<>=4?L=OE <>F<64F<=. 

� D57G?LF4F5 <7GG5=<O GG55=>= 4<EF<??<=O «$<7<G5E>4O >G?LFGD4» >5GG4NM<=EO 4>?65= 
7=4FL/?>=<<4FL: 

-7=4G5=<5 D<7<G5E>>7> 6>E?<F4=<O 6 >5M5>G?LFGD=><, ?D>D5EE<>=4?L=>< < E>F<4?L=>< 
D476<F<< G5?>65>4; 
->E=>6O 74>D>6>7> >5D474 6<7=<. 

� D57G?LF4F5 <7GG5=<O GG55=>= 4<EF<??<=O «$<7<G5E>4O >G?LFGD4» >5GG4NM<=EO >E=>6=>= 
<54<F<=E>>= 7DG??O 4>?65= G<5FL: 
-<E?>?L7>64FL D<7>G?LFGD=>->74>D>6<F5?L=GN 45OF5?L=>EFL 4?O G>D5??5=<O 
74>D>6LO, 4>EF<65=<O 6<7=5==OE < ?D>D5EE<>=4?L=OE F5?5=; 
- <E?>?L7>64FL ?D<>5D5F5==O5 7=4=<O < G<5=<O 6 ?D4>F<G5E>>= 45OF5?L=>EF< < ?>6E54=56=>= 6<7=< 
4?O: 
- ?>6OL5=<O D45>F>E?>E>5=>EF<, E>ED4=5=<O < G>D5??5=<O 74>D>6LO; 
- ?>47>F>6>< 6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF< < E?G655          
�>>DG65==OE %<?4E $>EE<=E>>= $545D4F<<; 
-  >D74=<74F<< < ?D>6545=<O <=4<6<4G4?L=>7>, >>??5>F<6=>7> < E5<5==>7> >F4OE4, GG4EF<O 6 
<4EE>6OE E?>DF<6=OE E>D56=>64=<OE; 
- 4>F<6=>= F6>DG5E>>= 45OF5?L=>EF<, 6O5>D4 < D>D<<D>64=<O 74>D>6>7> >5D474 6<7=<. 
 
%FG45=F 4>?65= >E6><FL E?54GNM<5 >5M<5 < ?D>D5EE<>=4?L=O5 >><?5F5=F<<: 
�� 1. �>=<<4FL EGM=>EFL < E>F<4?L=GN 7=4G<<>EFL E6>5= 5G4GM5= ?D>D5EE<<, ?D>O6?OFL > =5= 
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GEF>=G<6>EFL. 
�� 2. �D74=<7>6O64FL E>5EF65==GN 45OF5?L=>EFL, 6O5<D4FL F<?>6O5 <5F>4O < E?>E>5O 
6O?>?=5=<O ?D>D5EE<>=4?L=OE 7444G, >F5=<64FL <E MDD5>F<6=>EFL < >4G5EF6>. 
�� 3. �D<=<<4FL D5L5=<O 6 EF4=44DF=OE < =5EF4=44DF=OE E<FG4F<OE < =5EF< 74 =<E 
>F65FEF65==>EFL. 
�� 8. %4<>EF>OF5?L=> >?D545?OFL 7444G< ?D>D5EE<>=4?L=>7> < ?<G=>EF=>7> D476<F<O, 74=<<4FLEO 
E4<>>5D47>64=<5<, >E>7=4==> ??4=<D>64FL ?>6OL5=<5 >64?<D<>4F<< 
 
 

2. %&$'�&'$� � %���$����� ��%&�����/ 
 

 

2.1 �5N5< GG55=>= 4<EF<??<=O < 6<4O GG55=>= D45>FO 

�<4 GG55=>= D45>FO �5N5<, G4E 
(>G=4O D>D<4) 

�4>E<<4?L=4O =47DG7>4 236 
�4>E<<4?L=4O =47DG7>4 118 
%4<>EF>OF5?L=4O D45>F4 118 
�5>F<<  

�D4>F<G5E><5 74=OF<O 118 
$>D<4 ?D><56GF>G=>= 4FF5EF4F<< �<DD5D5=F<D> 

64==O= 74G5F 
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2.2. &5<4F<G5E><= ??4= < E>45D64=<5 4<EF<??<=O «$<7<G5E>4O >G?LFGD4» 
�4<<5=>64=<5 
D4745?>6 < F5< 

%>45D64=<5 GG55=>7> <4F5D<4?4, ?45>D4F>D=O5 < ?D4>F<G5E><5 D45>FO, 
E4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO, >GDE>64O D45>F4 (?D>5>F) 

�G=. 

1 2 3 

�>4G?L 1. &5==<E 36 

&5<4 1.1. &5E=<>4 
<7D>6OE ?D<5<>6 6 

F5==<E5 

%>45D64=<5 GG55=>7> <4F5D<4?4 
 

�7GG5=<5 ?D46<? <7DO 6 F5==<E, D476<F<5 E>>D>EF=OE >4G5EF6. �7GG5=<5 ?D46<? <7DO 6 
F5==<E 4?O ?<F E ���. 
&5<4 <=F5D4>F<6=>7> 74=OF<O: 
1. �7D4 7=4F>>< =4EF>?L=>7> F5==<E4 4?O ?<F E ��� 
2. �7D4: «%>?=OL>>» 

 

�45>D4F>D=O5 D45>FO - 

�D4>F<G5E><5 74=OF<O 
%F>=><, ?5D546<65=<O, ?D<5< < ?5D544G4 <OG4 E5>>G, E=<7G, ?5D544G4 < ?D<5< <OG4, 
6O?>?=5=<5 ?>44G< <OG4: ?DO<4O =<6=OO, ?DO<4O 5>>>64O, =4?444NM<= G44D. 

9 

�>=FD>?L=O5 D45>FO 
 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 
�7GG5=<5 ?D46<? <7DO 6 F5==<E, D476<F<5 E>>D>EF=OE >4G5EF6. 

9 

&5<4 1.2. 
%>65DL5=EF6>64=<5 

<7DO 6 F5==<E 

%>45D64=<5 GG55=>7> <4F5D<4?4 - 

�45>D4F>D=O5 D45>FO - 

�D4>F<G5E><5 74=OF<O 
%>65DL5=EF6>64=<5 F5E=<G5E><E ?D<5<>6, F4>F<G5E><E 45=EF6<= ?D< <7D5 6 F5==<E. 
&4>F<>4 <7DO 6 =4?445=<< < 74M<FO. �D46<?4 <7DO. &5E=<>4 557>?4E=>EF< <7DO. �7D4 ?> 
?D46<?4<. 

9 

�>=FD>?L=O5 D45>FO 
 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 
%>65DL5=EF6>64=<5 F5E=<G5E><E ?D<5<>6 < ?>44G<. �4=OF<O 6 E?>DF<6=OE E5>F<OE. 
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�>4G?L 2. �MD>5<>4 36 

&5<4 2.1. %?>DF<6=4O 
4MD>5<>4 

%>45D64=<5 GG55=>7> <4F5D<4?4 - 
�D4>F<G5E><5 74=OF<O 9 

�>4E>>><, 4<??<FG4=O5 <4E< =>74<<, G?D46=5=<O 4?O <OLF 6<6>F4, >F6<<4=<5 6 G?>D5 
?564, >G6OD>< 6?5D54 < =4744, ?445=<5 6 G?>D ?564, ?5D56>D>FO 6?5D54, =4744, 6 EF>D>=G, 
L?474FO. &5E=<>4 557>?4E=>EF< ?D< 74=OF<< E?>DF<6=>= 4MD>5<>>=. 

 

�>=FD>?L=O5 D45>FO 
 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 
E>EF46?5=<5 >><5<=4F<=, E>EF>OM<E <7 4>D>54F<G5E><E M?5<5=F>6. �4=OF<O 6 E?>DF<6=OE 
E5>F<OE. 
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&5<4 2.2. 
%>65DL5=EF6>64=<5 

G?D46=5=<= 4MD>5<>< 

%>45D64=<5 GG55=>7> <4F5D<4?4 - 

�45>D4F>D=O5 D45>FO 
 

�D4>F<G5E><5 74=OF<O 9 
%44G4 74G5F=OE >><5<=4F<=, E>EF>OM<E <7 E?>DF<6=>-7<<=4EF<G5E><E < 4>D>54F<G5E><E 
M?5<5=F>6. 

 

�>=FD>?L=O5 D45>FO 
 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 
E>EF46?5=<5 >><5<=4F<=, E>EF>OM<E <7 4>D>54F<G5E><E M?5<5=F>6. �4=OF<O 6 E?>DF<6=OE 
E5>F<OE. 

9 

�>4G?L 3. �57>4O 4F?5F<>4 36 

&5<4 3.1. �57 =4 
>>D>F><5, ED54=<5 < 
4?<==O5 4<EF4=F<< 

%>45D64=<5 GG55=>7> <4F5D<4?4 
 

�5GG5=<5 F5E=<>< 5574 =4 4?<==O5 4<EF4=F<<. �5GG5=<5 F5E=<>< 5574 =4 4?<==O5 
4<EF4=F<< 4?O ?<F E ���. 
�5GG5=<5 F5E=<>< MEF4D5F=>7> 5574. �5GG5=<5 F5E=<>< MEF4D5F=>7> 5574 4?O ?<F E ���. 
&5<4 <=F5D4>F<6=>7> 74=OF<O: 
1. -EF4D5F4 E M?5<5=F4<< ?57>>= 4F?5F<>5 
2. �7D4 7=4F>>< E?>DF4 4?O ?<F E ��� 
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�45>D4F>D=O5 D45>FO 
 

�D4>F<G5E><5 74=OF<O 9 
&5E=<>4 5574 =4 >>D>F><5 4<EF4=F<< < 57> E>65DL5=EF6>64=<5 (=<7><= EF4DF, 557 ?> 
4<EF4=F<<, D<=<L<D>64=<5). �>47>F>6<F5?L=O5 G?D46=5=<O 4?O 557G=4 =4 >>D>F><5 
4<EF4=F<<. $476<F<5 E>>D>EF=OE >4G5EF6 - 4E20<, 2E60<, 100<. -EF4D5F=O= 557 - 4x100 <, 
6x50 <. '5?=>G=O= 557 - 3E10 <. &5E=<>4 < F4>F<>4 5574 =4 ED54=<5 < 4?<==O5 4<EF4=F<<. 
�57 =4 500 < (456GL><), 1000 < (N=>L<); 2000 < (456GL><), 3000 < (N=>L<). 

 

�>=FD>?L=O5 D45>FO 
 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 
>FD45>F>4 F5E=<>< 5574 < F5E=<>< 4OE4=<O. �4=OF<O 6 E?>DF<6=OE E5>F<OE. 

9 

&5<4 3.2. �DO6>< 6 
4?<=G 

%>45D64=<5 GG55=>7> <4F5D<4?4 
 

�45>D4F>D=O5 D45>FO 
 

�D4>F<G5E><5 74=OF<O 9 
�O?>?=5=<5 E?5F<4?L=OE G?D46=5=<= 4?O <E?>?=5=<O ?DO6>4 6 4?<=G E <5EF4. 
�O?>?=5=<5 E?5F<4?L=OE G?D46=5=<= 4?O <E?>?=5=<O ?DO6>4 6 4?<=G E <5EF4 4?O ?<F E 
���. 

 

�>=FD>?L=O5 D45>FO 
 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 
>5GG4NM<EEO: >FD45>F>4 ?DO6>>6>= F5E=<><. �4=OF<O 6 E?>DF<6=OE E5>F<OE. 

9 

�>4G?L 4. � <<=4EF<>4 36 

&5<4 4.1. 
%?>DF<6=4O 
7<<=4EF<>4 

%>45D64=<5 GG55=>7> <4F5D<4?4 
 

�45>D4F>D=O5 D45>FO 
 

�D4>F<G5E><5 74=OF<O 8 
&5E=<>4 6O?>?=5=<O 7<<=4EF<G5E><E G?D46=5=<= - >><5<=4F<= =4 ?5D5>?44<=5 =<7>>=, 
?474=<5 ?> >4=4FG; M?5<5=FO 4>D>54F<G5E><E G?D46=5=<=: >G6OD><, EF>=><, ?5D56>D>FO; 
?DO6>< >?>D=O5 - «?DO6>> E>7=G6 =>7<», «?DO6>> =>7< 6D>7L». �474=<5 ?> >4=4FG 
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D47?<G=O<< ?D<5<4<<. �5D5>?44<=4 6OE>>4O: ?>4FO7<64=<5 6 6<E5, ?>4N5< ?5D56>D>F><. 
�DO6>< >?>D=O5 - «?DO6>> E>7=G6 =>7<», «?DO6>> =>7< 6D>7L» 4?O ?<F E ���. 

 

�>=FD>?L=O5 D45>FO 
 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 
D476<F<5 E<?>6OE >4G5EF6 - ?>4FO7<64=<5, >F6<<4=<5 6 G?>D5 ?564, G?D46=5=<O E 
>FO7>M5=<5<. '?D46=5=<O =4 D476<F<5 7<5>>EF<, E<?O, ?>6>>EF<. 
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&5<4 4.2. 
%>65DL5=EF6>64=<5 

7<<=4EF<G5E><E 
G?D46=5=<= 

%>45D64=<5 GG55=>7> <4F5D<4?4 
 

�45>D4F>D=O5 D45>FO 
 

�D4>F<G5E><5 74=OF<O 8 
�>4FO7<64=<5 =4 6OE>>>= ?5D5>?44<=5, ?>4=<<4=<5 < >?GE>4=<5 FG?>6<M4 <7 ?>?>65=<O 
«?564 =4 E?<=5», ?>4N5< ?5D56>D>F><, ?>4=<<4=<5 =>7 6 6<E5 4> >4E4=<O ?5D5>?44<=O, 
?DO6>> G5D57 >>7?4. %>65DL5=EF6>64=<5 < E44G4 74G5F=OE >><5<=4F<= =4 7<<=4EF<G5E><E 
E=4DO44E. 
�>4FO7<64=<5 =4 6OE>>>= ?5D5>?44<=5, ?>4=<<4=<5 < >?GE>4=<5 FG?>6<M4 <7 ?>?>65=<O 
«?564 =4 E?<=5» 4?O ?<F E ���. 

 

�>=FD>?L=O5 D45>FO 
 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 
$47D45>F>4 G?D46=5=<= GFD5==5= 7<<=4EF<><. %>EF46?5=<5 < 45<>=EFD4F<O G?D46=5=<= 
4?O G?GGL5=<O >>>D4<=4F<< 46<65=<=. �4=OF<O 6 E?>DF<6=OE E5>F<OE. 

8 

�>4G?L 5. %?>DF<6=O5 <7DO 36 
 �D4>F<G5E><5 74=OF<O 8 

&5E=<>4 <7D>6OE ?D<5<>6 6 6>?5=5>?5: EF>=><, ?5D546<65=<O, ?D<5< < ?5D544G4 <OG4 
E65DEG, E=<7G, ?5D544G4 < ?D<5< <OG4 =44 E>5>=, 6O?>?=5=<5 ?>44G< <OG4: ?DO<4O =<6=OO, 
?DO<4O 65DE=OO, =4?444NM<= G44D, 5?>><D>64=<5. %>65DL5=EF6>64=<5 F5E=<G5E><E 
?D<5<>6, F4>F<G5E><E 45=EF6<= ?D< <7D5 6 6>?5=5>?. &4>F<>4 <7DO 6 =4?445=<< < 74M<FO. 
�><4=4=O5 45=EF6<O. �D46<?4 <7DO. &5E=<>4 557>?4E=>EF< <7DO. �7D4 ?> G?D>M5==O< 
?D46<?4< 6>?5=5>?4. �7D4 ?> ?D46<?4<. 
&5E=<>4 <7D>6OE ?D<5<>6 6 6>?5=5>?5: EF>=><, ?5D546<65=<O, ?D<5< < ?5D544G4 <OG4 
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E65DEG, E=<7G, ?5D544G4 < ?D<5< <OG4 =44 E>5>=, 6O?>?=5=<5 ?>44G< <OG4: ?DO<4O =<6=OO, 
?DO<4O 65DE=OO, =4?444NM<= G44D, 5?>><D>64=<5. %>65DL5=EF6>64=<5 F5E=<G5E><E 
?D<5<>6, F4>F<G5E><E 45=EF6<= ?D< <7D5 6 6>?5=5>?. &4>F<>4 <7DO 6 =4?445=<< < 74M<FO. 
�><4=4=O5 45=EF6<O. �D46<?4 <7DO. &5E=<>4 557>?4E=>EF< <7DO. �7D4 ?> G?D>M5==O< 
?D46<?4< 6>?5=5>?4. �7D4 ?> ?D46<?4< 4?O ?<F E ���. 
&5<4 <=F5D4>F<6=>7> 74=OF<O: 
1. �<>=5D5>? 4?O ?<F E ��� 
2. �5D5EFD5?>4 

 

 

�>=FD>?L=O5 D45>FO 
 

 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 
<7GG5=<5 ?D46<? <7DO 6 6>?5=5>?, D476<F<5 E>>D>EF=OE >4G5EF6. '?D46=5=<O ?> 
E>65DL5=EF6>64=<N E>>D>EF=OE < E<?>6OE >4G5EF6. %>65DL5=EF6>64=<5 F5E=<G5E><E 
?D<5<>6. �4=OF<O 6 E?>DF<6=OE E5>F<OE. . 
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&5<4.5.2. �4E>5F5>? %>45D64=<5 GG55=>7> <4F5D<4?4 
 

   

 

�D4>F<G5E><5 74=OF<O: �>6?O < ?>44G4 <OG4, 6545=<5, 5D>E>< <OG4 6 >>D7<=G (E <5EF4, 6 
46<65=<<, ?DO6>><), 6ODO64=<5 < 6O5<64=<5 (?D<5<O >6?445=<O <OG><), ?D<5< F5E=<>< 
74M<FO - ?5D5E64F, ?D<5<O, ?D<<5=O5<O5 ?D>F<6 5D>E>4, =4>DO64=<5, F4>F<>4 =4?445=<O, 
F4>F<>4 74M<FO, 6O?>?=5=<5 LFD4D=OE 5D>E>>6. �D46<?4 <7DO. &5E=<>4 557>?4E=>EF< 
<7DO. �7D4 ?> G?D>M5==O< ?D46<?4<. �7D4 ?> ?D46<?4<. 
�>6?O < ?>44G4 <OG4, 6545=<5, 5D>E>< <OG4 6 >>D7<=G (E <5EF4, 6 46<65=<<, ?DO6>><), 
6ODO64=<5 < 6O5<64=<5 (?D<5<O >6?445=<O <OG><), ?D<5< F5E=<>< 74M<FO - ?5D5E64F, 
?D<5<O, ?D<<5=O5<O5 ?D>F<6 5D>E>4, =4>DO64=<5, F4>F<>4 =4?445=<O, F4>F<>4 74M<FO, 
6O?>?=5=<5 LFD4D=OE 5D>E>>6. �D46<?4 <7DO. &5E=<>4 557>?4E=>EF< <7DO. �7D4 ?> 
G?D>M5==O< ?D46<?4<. �7D4 ?> ?D46<?4< 4?O ?<F E ���. 

8 

 

�>=FD>?L=O5 D45>FO 
 

 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO: <7GG5=<5 ?D46<? <7DO 6 54E>5F5>?, D476<F<5 
E>>D>EF=OE >4G5EF6. '?D46=5=<O ?> E>65DL5=EF6>64=<N E>>D>EF=OE < E<?>6OE >4G5EF6. 
%>65DL5=EF6>64=<5 F5E=<G5E><E ?D<5<>6. �4=OF<O 6 E?>DF<6=OE E5>F<OE. 

8 

�>4G?L 6. �D>D5EE<>=4?L=>-?D<>?44=4O D<7<G5E>4O ?>47>F>6>4. 36 
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&5<4: 6.1. %GM=>EFL < 
E>45D64=<5 ��$� 

%>45D64=<5 GG55=>7> <4F5D<4?4 
 

 

- 

�45>D4F>D=O5 D45>FO 
 

�D4>F<G5E><5 74=OF<O: $47GG<64=<5 < 74>D5??5=<5 ?D>D5EE<>=4?L=> 7=4G<<OE 
46<74F5?L=OE 45=EF6<=. 
$47GG<64=<5 < 74>D5??5=<5 ?D>D5EE<>=4?L=> 7=4G<<OE 46<74F5?L=OE 45=EF6<= E ��� 

12 

�>=FD>?L=O5 D45>FO 
 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 
�O?>?=5=<5 >><??5>E>6 GFD5==5= 7<7<5=<G5E>>= 7<<=4EF<><. %>5?N45=<5 >?F<<4?L=OE 
D56<<>6 EGF>G=>= 46<74F5?L=>= 4>F<6=>EF< =4 >E=>65 6O?>?=5=<O D<7<G5E><E 
G?D46=5=<=. 

8 

 �D4>F<G5E><5 74=OF<O: %4<>EF>OF5?L=>5 ?D>6545=<5 EFG45=F>< >><??5>E>6 
?D>D5EE<>=4?L=>-?D<>?44=>= D<7<G5E>>= >G?LFGDO 6 D56<<5 4=O E?5F<4?<EF4. 
%4<>EF>OF5?L=>5 ?D>6545=<5 EFG45=F>< >><??5>E>6 ?D>D5EE<>=4?L=>-?D<>?44=>= 
D<7<G5E>>= >G?LFGDO 6 D56<<5 4=O E?5F<4?<EF4 4?O ?<F E ���. 
&5<4 <=F5D4>F<6=>7> 74=OF<O: 
1. �5E544 =4 F5<G "�<F4=<O" 

8 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO: 
�O?>?=5=<5 >><??5>E>6 GFD5==5= 7<7<5=<G5E>>= 7<<=4EF<><. %>5?N45=<5 >?F<<4?L=OE 
D56<<>6 EGF>G=>= 46<74F5?L=>= 4>F<6=>EF< =4 >E=>65 6O?>?=5=<O D<7<G5E><E 
G?D46=5=<=. 

8 

�>4G?L 7. �5F>4<>4 ?D>6545=<O ?D><76>4EF65==>= 7<<=4EF<><. 20 
 �D4>F<G5E><5 74=OF<O: $47GG<FL >><??5>E E?5F<4?L=OE G?D46=5=<= $47GG<FL >><??5>E 

E?5F<4?L=OE G?D46=5=<= 4?O ?<F E ��� 4 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 
$<7<G5E><5 G?D46=5=<O 6 >><??5>E4E 65?4F5?L=> ?5D<>4<G5E>< D47=>>5D47<FL, 74<5=OO 
(?D<<5D=> 1 D47 6 10-14 4=5=) =>6O<<, EE>4=O<< ?> 6?<O=<N =4 >D74=<7<. 

4 

�45>D4F>D=O5 D45>FO 
 

�D4>F<G5E><5 74=OF<O: $47GG<FL >><??5>E E?5F<4?L=OE G?D46=5=<= 8 
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 $47GG<FL >><??5>E E?5F<4?L=OE G?D46=5=<= 4?O ?<F E ���.  

 

�>=FD>?L=O5 D45>FO 
 

 %4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO 
$47D45>F4FL <=4<6<4G4?L=O5 >><??5>EO G?D46=5=<=; 
1. 4?O <OLF FG?>6<M4, =>7 < DG>; 
2. 4?O <OLF FG?>6<M4, =>7 < DG> 5>?55 4<=4<<G=O5, E 5>?LL5= =47DG7>>=; 
3. >5M57> 6>745=EF6<O 4 ?D<E544=<O, 557, ?DO6><; 
4. 4?O <OLF =>7, DG> < FG?>6<M4 < <E >><5<=4F<< E 4>F5=F>< =4 46<65=<5 =>74<<; 
5. =4 D4EE?45?5=<5 <OLF DG>; 
6. =4 6=<<4=<5, >>>D4<=4F<N 46<65=<=. 

4 

 �<DD5D5=F<D>64==O= 74G5F 236 
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3. '%����/ $������&�� �$��$���/ ��%&�����/ 

$54?<74F<O ?D>7D4<<O 4<EF<??<=O «$<7<G5E>4O >G?LFGD4» FD55G5F =4?<G<O 

E?>DF<6=>7> 74?4 

�5>DG4>64=<5 E?>DF<6=>7> 74?4: 

$45>G55 <5EF> ?D5?>4464F5?O; �>?>=>< (>><??5>F)-1; ,654E>4O EF5=>4- 2; �465E=O5 

FGD=<><-2; %>4>4?>4-5; �<<=4EF<G5E>4O E>4<LO-2; %>4<LO 4?O D476<F<O <OLF 5DNL=>7> 

?D5EE4-1; %F>? F5==<E=O=-1; '=<65DE4?L=4O EF>=>4-1; �=F5??5>FG4?L=O5 <7DO (L4E<4FO, 

L4L><)-5. 
�><5M5=<5 4?O E4<>EF>OF5?L=>= D45>FO: ?>E44>G=O5 <5EF4 ?> >>?<G5EF6G 

>5GG4NM<EEO; 

 - >><?LNF5DO E GEF4=>6?5==O< ?D>7D4<<=O< >55E?5G5=<5< >5M57> < 

?D>D5EE<>=4?L=>7> =47=4G5=<O 
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3.2. �=D>D<4F<>==>5 >55E?5G5=<5 >5GG5=<O 

�E=>6=4O GG55=4O ?<F5D4FGD4: 

1. 1. ,55=>>, �. �. $<7<G5E>4O >G?LFGD4 G5?>65>4 (>E=>6=O5 ?>=OF<O < 

F5==>EF<): GG55=>5 ?>E>5<5: [12+] / �. �. ,55=>>, �. �. &>?<EF<=>6, �. �. %4?56; 

�?F4=E><= D<?<4? $>EE<=E>>= 4>445<<< =4D>4=>7> E>7O=EF64 < 7>EG44DEF65==>= E?G65O 

?D< �D57<45=F5 $>EE<=E>>= $545D4F<<. - �>E>64; �5D?<=: �<D5>F-�54<4, 2020. - 81 E.: <?., 

F45?.. - URL: https://biblioclub.ru/index.php?page=book&id=597370 - �<5?<>7D. 6 >=. - ISBN 

978-5-4499-1472-9. - &5>EF : M?5>FD>==O=. 

2. 2. $<7<G5E>4O >G?LFGD4: GG55=<> / �.�. �4E4D>64, �.�. �N?<=4, �.�. 

�G4DO6F56 < 4D.; �<=<EF5DEF6> >5D47>64=<O < =4G>< $>EE<=E>>= $545D4F<<, 

 [-?5>FD>==O= D5EGDE]. - URL: http://biblioclub.ru/index.php?page=book&id=497151 

�>?>?=<F5?L=O5 <EF>G=<><: 

1. &OG<=<=, �.�. $<7<G5E>4O >G?LFGD4 6 F5E=<G5E>>< 6G75: GG55=>5 ?>E>5<5 / �.�. 

&OG<=<=, �.�. %GE4=>6; �<=<EF5DEF6> >5D47>64=<O < =4G>< $$, �>D>=56E><= 

7>EG44DEF65==O= G=<65DE<F5F <=65=5D=OE F5E=>?>7<=. - �>D>=56: �>D>=56E><= 

7>EG44DEF65==O= G=<65DE<F5F <=65=5D=OE F5E=>?>7<=, 2018. - 101 E. - �<5?<>7D. 6 >=. 

[-?5>FD>==O= D5EGDE]. - URL: http://biblioclub.ru/index.php?page=book&id=482034 

2. �G7=5F>6, �.�. �D<>?44=4O D<7<G5E>4O >G?LFGD4 4?O EFG45=F>6 E?5F<4?L=OE 

<54<F<=E><E 7DG??: GG55=>5 ?>E>5<5 / �.�. �G7=5F>6, �.-. �GD>6, �.�. �4G4=>6. - �>E>64; 

�5D?<=: �<D5>F-�54<4, 2019. - 178 E.: <?., F45?. - �<5?<>7D: E. 143-145. [-?5>FD>==O= 

D5EGDE]. - URL: http://biblioclub.ru/index.php?page=book&id=494862 

�47O 44==OE </<?< �=F5D=5F-D5EGDEO: 

1. http://akot.rosmintrud.ru/ �4<=4O >5M5D>EE<=E>4O E?D46>G=>-<=D>D<4F<>==4O 

E<EF5<4 ?> >ED4=5 FDG44 

2. http://www.edu.ru/ �<5?<>F5>4 D545D4?L=>7> ?>DF4?4 «$�%%��%��� 

��$��������» 

3. http://www.consultant.ru %?D46>G=4O ?D46>64O E<EF5<4 «�>=EG?LF4=F �?NE» 

�D<F<4?L=O5, E?D46>G=>-5<5?<>7D4D<G5E><5 < ?5D<>4<G5E><5 <744=<O: 

1. $>EE<=E>4O 7475F4: >5M5EF65==>-?>?<F<G5E>4O 7475F4 / 7?. D54. �.�. $D>=<=; 
GGD54. �D46<F5?LEF6> $>EE<=E>>= $545D4F<<. - �.: $>EE<=E>4O 7475F4, 2021 

2. $>EE<=E>4O 7475F4 - �545?O: >5M5EF65==>-?>?<F<G5E>4O 7475F4 / 7?. D54. �.�. 
$D>=<=; GGD54. �D46<F5?LEF6> $>EE<=E>>= $545D4F<<. - �.: $>EE<=E>4O 7475F4, 2020, 2021 

3. %D54=55 ?D>D5EE<>=4?L=>5 >5D47>64=<5: 565<5EOG=O= F5>D5F<G5E><= < 
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=4GG=>-<5F>4<G5E><= 6GD=4?/7?. D54. �.�. %>4<=<F><=/��� "�����%", �>E>64/2020. - 
7 1-12, 2021. - 7 1-8 

4. �G7>6E><= �5EF=<>: D>EE<=E>4O <=D>D<4F<>==>-4=4?<F<G5E>4O 7475F4 
D5>F>D>6, ?D>D5>F>D>6, ?D5?>4464F5?5=, 4E?<D4=F>6, EFG45=F>6, 45<FGD<5=F>6 / 7?.D54. 
�=4D5= ,>?>E>6; GGD54..��� ".=<�5EF�54<4".- �.:��� ".=<�5EF�54<4", 2020, 2021 
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4.���&$��, � �&���� $��'�,&�&�� �%�����/ 
��%&�����/ 

4.1. �>=FD>?L D57G?LF4F>6 >E6>5=<O 

�D<<5D F5EF>6>7> 7444=<O.   
 
�>4G?L 1. &5==<E  
1. �4><5 D47<5DO F5==<E=>7> EF>?4 G>474=O ?D46<?L=>? 

1) 3,5< E 1,25< 
2) 2,5< E 1< 
3) 1,525< E 0,97< 
4) 2,74< E 1,525< 

2. �> >4>>7> EG5F4 <7D45FEO >4=4 ?4DF<O? 
1) 4> 15 >G>>6 
2) 11 >G>>6 
3) 21 >G>>6 
4) 40 >G>>6 

3. %>>?L>> ?>44G ?>4DO4 6O?>?=O5F >4<= <7D>>? 
1) >4=G 
2) 465 
3) ?OFL 
4) =5>7D4=<G5==> 

4. � >4>>= EFD4=5 =4EF>?L=O= F5==<E 6?5D6O5 5O? ?D<7=4= E?>DF<6=>= <7D>=? 
1) %,� 
2) �<F4= 

�>=FD>?L < >F5=>4 D57G?LF4F>6 GE6>5=<O 4<EF<??<=O ?> F5<4< >EGM5EF6?O5FEO 
?D5?>4464F5?5< 6 ?D>F5EE5 ?D>6545=<O ?D4>F<G5E><E 74=OF<=, F5EF<D>64=<O, 4 F4>65 
6O?>?=5=<O >5GG4NM<<<EO <=4<6<4G4?L=OE 7444=<=, ?D>5>F>6, <EE?54>64=<=. 

$57G?LF4FO >5GG5=<O (>E6>5==O5 

G<5=<O, GE6>5==O5 7=4=<O) 

$>D<O < <5F>4O >>=FD>?O < >F5=>< 

D57G?LF4F>6 >5GG5=<O 
�5GG4NM<=EO 4>?65= G<5FL: �F>7>6O= >>=FD>?L: 

�E?>?L7>64FL D<7>G?LFGD=> - -4<DD5D5=F<D>64==O= 74G5F. 

>74>D>6<F5?L=GN 45OF5?L=>EFL 4?O &5>GM<= >>=FD>?L: 

G>D5??5=<O 74>D>6LO, 4>EF<65=<O - >F5=<64=<5 ?D4>F<G5E><E G<5=<= ?> 
6<7=5==OE < ?D>D5EE<>=4?L=OE F5?5=. 6O?>?=5=<N D<7<G5E><E G?D46=5=<=; 

�5GG4NM<=EO 4>?65= 7=4FL: - >F5=<64=<5 <=4<6<4G4?L=OE 

- > D>?< D<7<G5E>>= >G?LFGDO 6 F6>DG5E><E ?D>5>F>6. 

>5M5>G?LFGD=><, ?D>D5EE<>=4?L=>< < �D><56GF>G=O= >>=FD>?L: 

E>F<4?L=>< D476<F<< G5?>65>4; - E44G4 =>D<4F<6>6. 

- >E=>6O 74>D>6>7> >5D474 6<7=<.  
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3) �>D5O 
4) �=7?<O 

5. � >4>>< 7>4G 5O? ?D>6545= ?5D6O= G5<?<>=4F <<D4? 
1) 18287. 
2) 19007. 
3) 19277. 
4) 19487. 

6. %>>?L>> G44D>6 ?> <OGG ?>4DO4 <>65F E45?4FL <7D>> ?D< ?4D=>= 6EFD5G5? 
1) >4<= 
2) 464 
3) FD< 
4) =5>7D4=<G5==>5 >>?<G5EF6> 

7. �F> <7>5D5? E>6D5<5==O= F5==<E=O= <OG<>? 
1) �. �=45DE5= 
2) �. �6445D 
3) �. �G?5D 
4) �. �<5E 

8. �>6=> ?< >4E4FLEO EF>?4 DG>>= 557 D4>5F>< < 4DG7>= G4EFLN F5?4? 
1) <>6=> 
2) =5?L7O 
3) <>6=> ?D< 74M<F5 
4) <>6=> ?D< ?>?444=<< 

9. �>6=> ?< ?>6F>D<FL ?>44GG, 5E?< ?>44NM<= ?D><4E=5FEO ?> <OGG? 
1) =5F 
2) 44 
3) <>6=> 5E?< EG5F 20 : 20. 

10. �>65F ?< <7D>>, ?D<=<<4NM<= ?>44GG EF>OFL E5>>G >F EF>?4? 
1) <>65F 
2) =5 <>65F 
3) <>65F, F>?L>> 1,5 <5FD4 E5>>G 

11. �4>>= 65E F5==<E=>7> <OG4? 
1) 1 7D4<< 
2) 2 7D4<<4 
3) 2,4 - 2,53 7D4<<4 
4) 4 - 4,25 7D4<<4 

12. %>>?L>> G5?>65> >4=>6D5<5==> <7D4NF 6 =4EF>?L=O= F5==<E 6 ?4DF<< >4<=>G=>7> 
D47DO44 

1) >4<= 
2) 464 
3) FD< 
4) G5FOD5 

13. �> E>>?L>> ?>44G ?D><76>4<F >464O= <7D>> ?D< EG5F5 6 ?4DF<< 20:20? 
1) ?> >4=>= 
2) ?> 465 
3) ?> ?OFL 
4) =5>7D4=<G5==> 

14. � >4>>< 7>4G =4EF>?L=O= F5==<E 5O? 6?5D6O5 ?D<7=4= E?>DF<6=>= <7D>=? 
1) 18767. 
2) 19007. 
3) 19047. 
4) 3227. 4> =.M. 

15. �4>>= <7 ?D<5<>6 <7DO O6?O5FEO 4F4>GNM<< 45=EF6<5<? 
1) G44D F>?G>>< 
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2) ?>4EF46>4 
3) ?>4D57>4 
4) =4>4F 

�>4G?L 2 �MD>5<>4 
1. 'F> F4>>5 4MD>5<>4? 
A) >><??5>E G?D46=5=<=, 6 >>F>DOE 4OE4F5?L=O5 46<65=<O E>G5F4NFEO E 46<65=<5< 
F5?4, >?>D=>-46<74F5?L=>7> 4??4D4F4 
�) E>>F65FEF6<5 D47?<G=OE E?>DF<6=OE G?D46=5=<=, 74=OF<= < ?D>G<E E?>E>5>6 
G?GGL5=<O 74>D>6LO, >>DD5>F<D>6>< D<7GDO < >5M57> G>D5??5=<O >D74=<7<4 
B) >E=>6=O5 ED54EF64 74M<FO <7 E?>DF<6=OE < 6>EF>G=OE 54<=>5>DEF6 
�) >4=> <7 =4<5>?55 MDD5>F<6=OE ED54EF6, 6E5EF>D>==5 45=EF6GNM<E =4 G5?>65G5E><= 
>D74=<7< 
2. �>?5D5G=O= < ?D>4>?L=O=, MF> 6<4O... 
A) ?DO6>6 
�) L?474F>6 
B) L47>6 
3. �><??5>E G?D46=5=<= 4?O D4EFO6>< <OLF -MF>... 
A) EFD5FG<7 
�)G5D?<4<=7 
B) F4=5F 
4. 'F> F4>>5 EFD5FG<=7? 
A) D4EFO7<64=< 
�)E<?4 
B) >>>D4<=4F<O 
5. �4><5 G?D46=5=<O >F=>EOFEO > E?>DF<6=>= 4MD>5<>5? 
A) F4> 464<? (E ?>6>D>F>< < >5OG=O=);4MD 465>, «>>L>4»;FGD; EFD44?? (=>7< 6<5EF<, 
=>7< 6D>7L);>474> (E ?>6>D>F>< < >5OG=O=);?DO6>> 6 L?474F5 (E <5EF4 < E D47557G); 
�) >F6<<4=<5 6 G?>D5 ?564, 6 G?>D5 ?564 ?>>F< =4744, >F6<<4=<5 E> L?474F>< (65=E>=); 
G7>?>> =>7< 6<5EF5 < =>7< 6D>7L, 6OE>><= G7>?, ?>6>D>F G7?4 =4 90, 180 < 360 7D44GE>6; 
?D>?>?74=<5 G5D57 L?474F (?4=>5=>), <4E<; ?<5G?4; D47<=>6>4; 
B) L47, <4DL, ?4=G, 7D5=?-64==, L>EE5. 
6. $47=>>5D47=O= 6<4 ?5D546<65=<=: =4 =>E>4E, >EFDO=, L<D>><=? 
A) 55
�) L47 
B) ?DO6>> 
7. �4?D46?5=<5 4MD>5<><, 6 >>F>D>< <E?>?L7G5FEO EF5?-??4FD>D<4 
A) $<F=5E  
B)  �>64 4MD>5<>4 
C) EF5?-4MD>5<>4 
8. �4><5 G?D46=5=<O >F=>EOFEO > EFD5FG<=7G? 
A) «55D57>4», «??G7», «>>D7<=>4», <>EF, <>EF =4 ?>>FOE, «545>G>4», «G7>?>>», 
«G5D5?4L>4», «E>DGG<64=<5», «?>4>G>4», E>?44>4; 
�) EF>=>< =4 7>?>65, =4 ?>?4F>4E, =4 DG>4E, ?5D56>D>FO =4 ?>>FOE 6?5D54 < =4744, 
?5D56>D>FO 6?5D54 < =4744, ?5D56>D>F 6 EF>D>=G (>>?5E>), D>=44F; 
B) 547>6O5 L47< < ?DO6><, ?>445D6>< < ?<D4<<4O (?4D=O5, FD>=>< < L5EF5D><, EF4=FO). 
9. �4>>= ?DO6>> =5 <E?>?L7G5FEO 6 4MD>5<>5? 
A) «F4> 464<?» 
�)«EFD44??» 
B) «6OL5 =554» 
10. �F6<<4=<5 E> L?474F>< 4 MF>.. 
A) 65=E>= 
�) ?4=>5=> 
B) 75?<>>?F5D 
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11. �47>6<F5 547>6O= L47, >>F>DO= 6O?>?=O5FEO =4 4 EG5F4. "1" - L47 ?D46>= =>7>= 
6?5D54. "2" - ?D<EF46<FL ?56GN =>7G. "3" - L47 ?D46>= =>7>= =4744. "4" - ?D<EF46<FL 
?56GN. 
A) Touch 
 �) Step-touch 
B) Basic step 
12. �>64-4MD>5<>4 
A) 4MD>5<>4 E <OG>< 
�) 4MD>5<>4 6 6OE>>>= <=F5=E<6=>EF< 
B) 4MD>5<>4 6 6>45 
13. �5< 5O? ?D54?>65= F5D<<= «4MD>5<>4» 6 19607? 
A) �<5D<>4=F5< �.�G?5D>< 
�) �5D<4=F5< �. ,FD4G75D>< 
B) �5?L7<=F5< �. �F?5 
14. �47>6<F5 D47=>6<4=>EFL E>4L5O 6 EF>=>G =>7< 6D>7L, 74F5< 4 6<5EF5. 
�O?>?=O5FEO E ?D>46<65=<5< 6?5D54 < =4744 =4 4 EG5F4. 
A) Two   
�) V-step 
B) Straddle 

15. �47>6<F5 6<4 4>D>54F<G5E>>7> ?5D56>D>F4 c ?>6>D>F>< =4 180° 6>>DG7 ?D>4>?L=>= 
>E<. 
A) D>=44F 
�) >>?5E> 
B) L>EE5 
�>4G?L 3. �57>4O 4F?5F<>4. 

1. �4>>= <7 ?5D5G<E?5==OE 6<4>6 E?>DF4 =5 6E>4<F 6 E>EF46 ?57>>= 4F?5F<><? 

1) E?>DF<6=4O E>4L54 

2) 557 

3) ?DO6>< 

4) ??464=<5 

2. �4>>= 6<4 ?57>>= 4F?5F<>< 5O? D4=LL5 4DG7<E 6>?NG5= 6 ?D>7D4<<G 

�?<<?<=E><E <7D? 

1) 557 =4 >>D>F>GN 4<EF4=F<N 

2) 557 =4 ED54=NN 4<EF4=F<N 

3) <5F4=<5 4<E>4 

4) FD>==>= ?DO6>> 

3. �4>>= 65E 4<E>4 4?O <5F4=<5 G <G6G<=? 

1) 4 

2) 2

 3) 6 

4. �4> =47O645FEO 557 =4 >>D>F>GN 4<EF4=F<N? 

1) E?D<=F 

2) <4D4D>= 
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3) >D>EE 

5. �5E 65=E>>7> >>?LO 6 ?57>>= 4F?5F<>5? 

1) 1 >7 

2) 2 >7 

3) 3 >7 

6. �4>>= E=4DO4 =5 <5F4NF ?57>>4F?5FO E ?>6>D>F><? 

1) 4<E> 

2) >>?L5 

3) <>?>F 

7. �>D>F>4O 4<EF4=F<O 5574 6 ?57>>= 4F?5F<>5? 

1) 1500< 

2) 100< 

3) 60< 

4) 500< 

8. '>46<F5 4<EF4=F<N <4D4D>=E>>7> 5574: 

1) 30 >< 

2) 42 >< 195 < 

3) 45 >< 

4) 55 >< 500 < 

9. � MEF4D5F=><G 557G >F=>EOFEO? 

1) 3E100 

2) 4E100 

3) 2E100 

4) 5E100 

10. �4>>= 6<4 EF4DF4 ?D<<5=ONF 557G=O =4 ED54=5= 4<EF4=F<<? 

1) =<7><= EF4DF 

2) ED54=<= EF4DF 

3) 6OE>><= EF4DF 

11. � MEF4D5F=>< 5575 ?4?>G>4 ?5D5445FEO 6 >>D<4>D5? 

1) 20< 

2) 10< 

3) 30< 

12. � >4>>< 7>4G 6?5D6O5 ?D>E>4<?> ?5D65=EF6> $>EE<< ?> ?57>>= 4F?5F<>5? 

1) 1908 

2) 1912 
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3) 1920 4)1930 

13. � >4>>< 7>4G D>EE<=E><5 4F?5FO 6?5D6O5 ?D<=O?< GG4EF<5 6 �?<<?<=E><E <7D4E? 

1) 19047. 

2) 19127. 

3) 19157. 

4) 19177. 

14. '>46<F5 L<D<=G 557>6>= 4>D>6>< EF44<>=4: 

1) 80 E< 

2) 1 < 

3) 1 < 25 E< 

4) 2 < 

15. '>46<F5 L<D<=G ?<=<< D47<5F>< 557>6OE 4>D>65> EF44<>=4: 

1) 5 E< 

2) 6,27 E< 

3) 10 E< 

4) 12,2 E< 

�>4G?L 4. �<<=4EF<>4 
1.'F> >7=4G45F E?>6> «7<<=4EF<>4» 
1) E?>DF 
2) 7<5>>EFL 
3) ??4EF<G=>EFL 
2. �>?>65=<5 74=<<4NM57>EO =4 E=4DO45, ?D< >>F>D>< 57> ??5G< =4E>4OFEO =<65 
F>G5> E64F4, 6 7<<=4EF<>5 >5>7=4G45FEO >4>? 
1)�<E 
2) '?>D 
3)  �DG??<D>6>4 
5. �5D546565=<5 <7 >4=>7> EFD>O 6 4DG7>= =47O645FEO? 
1)�5D5E>4  
2)�5D5EFD>5=5 
3)�5D546<65=<5 
6. �>?>65=<5 74=<<4NM57>EO ?D< >>F>D>< E>7=GFO5 6 >>?5=OE =>7< ?>4=OFO5 
DG>4<< > 7DG4< < ><EF< 74E64FO64NF, 6 7<<=4EF<>5 >5>7=4G45FEO >4>: 
1)%64F  
2) �4E64F 
3)�5D5>4F 
4) 7DG??<D>6>4 
7. %>54<=5=<5 >F45?L=OE 4>D>54F<G5E><E G?D46=5=<= 6 >?D545?5==>= 
?>E?54>64F5?L=>EF< =47O645FEO? 
1)>><5<=4F<O  
2)E>54<=5=<5 
3)E6O7>4 
8. �D<6>> E> E=4DO44 6 7<<=4EF<>5 >5>7=4G45FEO >4>? 
1) �O?5F  
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2) %?44 
3) %>E>>>  
7.-?5<5=F,6NF>?=O5<O= E >?>D>= =4 ?>?4F><, =47O645FEO? 
1)%F>=>4 
2)�5D5>4F 
3)%F>=>4 =4 ?>?4F>4E 
8. �>?>65=<5 74=<<4NM<EEO =4 E>7=GFOE =>74E 6 7<<=4EF<>5 >5>7=4G5FEO >4>? 
1)%54  
2)�D<E4 
3)G?>D 
9. '?D46=5=<O =4 D46=>65E<O, E 6O?>?=5=<5< D47?<G=OE ?5D546<65=<=, ?DO6>>6, 
?>6>D>F>6, 6O?>?=O5FEO =4? 
1)�D56=5 
2)�DGELO 
3)�>D>6>5 
4)E>4<5=>5 
10. �D4M4F5?L=>5 46<65=<5 G5D57 7>?>6G E ?>E?54>64F5?L=O< >4E4=<5< 
>?>D=>= ?>65DE=>EF< >F45?L=O<< G4EFO<< F5?4 6 7<<=4EF<>5 >5>7=4G45FEO 
>4>? 
1)�G6OD>> 
2) �5D5>4F 
3)�5D56>D>F 
11.'F> ?>=<<45FEO ?>4 F5D<<=>< «�<EF4=F<O» 6 7<<=4EF<>5? 

1 $4EEF>O=<5 <564G 74=<<4NM<<EO «6 7?G5<=G» 
2 $4EEF>O=<5 >F 6?5D54< EF>OM57> 74=<<4NM57>EO 4> EF>OM57> E744< EFD>O 
3 3 $4EEF>O=<5 >F ?5D6>= L5D5=7< 4> ?>E?54=5= 

12. �4><5 <7 ?D<6545==OE >><4=4 6 7<<=4EF<>5 <<5NF F>?L>> <E?>?=<F5?L=GN 
G4EFL? 1«$46=O=EL» 2«$565» 3«�DG7><» 4«�>?L=>» 5«%<<D=>» 
1),2,2. 
2)1,3,5 
3).1,4,5 
13. '<5=<5 GG4M<EEO EFD><FLEO 6 D47?<G=O5 6<4O EFD>O, L5D5=7G, >>?>==G, >DG7, 4 
F4>65 ?5D5EFD4<64FLEO 6 =<E, 6 7<<=4EF<>5 =47O645FEO? 
1)EFD>56O<< ?D<5<4<< 
2) ?5D546<65=<O<< 
3)  ?>EFD>5=<O<< < ?5D5EFD>5=<O<< 
14. �G7>>5D47=>5, <4>E<<4?L=> ?>7=GF>5 ?>?>65=<5 E?<=>= > >?>D=>= ??>E>>EF< E 
>?>D>= DG>4<< < =>74<<, 6 7<<=4EF<>5 =47O645FEO? 
1)%F>=>4 
2)�>EF 
3)?5D56>D>F 
15. �F> <7 7<<=4EF>> O6?O5FEO 45E>?NF=>= D5>>D4E<5=>>= ?> >>?<G5EF6G 
>?<<?<=E><E <544?5=?(18 <544?5=-<7 =<E 9 7>?>FOE) 
1)�?L74 �>D5GF 
2)�445644 �><4=5G< 
3)�4D<E4 �4FO=<=4 
 4)�N4<<?4 &GD<M564  
 
�>4G?L 5. %?>DF<6=O5 <7DO 
 
1. $47<5DO 6>?5=5>?L=>= ??>M44><: 
 A .  20/15 
D. 17/9 
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E. 15/8 
2. $47<5DO ?<=<= 6>?5=5>?L=>= ??>M44>< 
A. 3 E< 
B. 5E< 
C. 6E< 
D. 10E< 
E. 8E< 
3. % >4>>7> 7>44 54E>5F5>? O6?O5FEO >?<<?<=E><< 6<4>< E?>DF4: 
A. 19537 
B. 19647 
C. 19357 
D. 20007 
E. 18957 
4. �OE>F4 >>?LF4 6 <G6E>>< 54E>5F5>?5: 
A. 3,05< 
B. 3< 
C. 3,10< 
D. 4,05< 
E. 2,95< 
5. &5E=<>4 6?445=<O <OG>< 6 54E>5F5>?5: 
A. ?>6?O, ?5D544G<, 5D>E><, 6545=<O. 
B. ?>6?O, ?5D544G< 
C. 5D>E><, 6545=<O 
D. >EF4=>6>< < 5D>E>< 
E. >EF4=>6><, ?>6?O, ?5D544G<, 5D>E><, 6545=<O 
6. �OE>F4 <G6E>>= 6>?5=5>?L=>= E5F><: 
A. 2,43< 
B. 2,40< 
C. 2,44< 
D. 2,34< 
E. 2,48< 
7. $47<5DO 54E>5F5>?L=>= ??>M44><: 
A. 30/15< 
B. 25/13< 
C. 24/12< 
D. 28/15< 
E. 20/9< 
8. %>>?L>> 6D5<5=< 445FEO <7D>>G, GF>5O 6O?>?=<FL 5D>E>> 6 54E>5F5>?5 <7-74 
5>>>6>= ?<=<<: 
A. 5E5> 
B. 8E5> 
C. 4E5> 
D. 10E5> 
E. 14E5> 
9. �5E 6>?5=5>?L=>7> <OG4: 
A. 2807 
B. 2457 
C. 2507 
D. 3007 
E. 2207 
10. %>>?L>> <7D>6OE G5F65DF5= 6 54E>5F5>?5: 
A. 4 
B. 3 
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C. 2 
D. 6 
E. 5 
11. �> E>>?L>< 4?<FEO EG5F 6 6>?5=5>?L=>= ?4DF<<: 
A. 4> 15 
B. 4> 25 
C. 4> 21 
D. 4> 11 
E. 4> 18 
12. %>>?L>> 445FEO 6D5<5=< 4?O 4F4>< 6 54E>5F5>?5: 
A. 35E5> 
B. 30E5> 
C. 15E5> 
D. 20E5> 
E. 24E5> 
13. �4>>5 >>?<G5EF6> <7D>>>6 =4E>4<FEO =4 6>?5=5>?L=>= ??>M44>5 6> 6D5<O <7DO: 
A. 7 
B. 5 
C. 6 
D. 11 
E. 8 
  
�>4G?L 6. �D>D5EE<>=4?L=>-?D<>?44=4O D<7<G5E>4O ?>47>F>6>4. 
1. %>7=4F5?L=>EFL < 4>F<6=>EFL, =47?O4=>EFL, 4>EFG?=>EFL, E<EF5<4F<G=>EFL, 
4<=4<<G=>EFL - MF> >5M<5 ?D<=F<?O: 
A) <4F5<4F<><; 
�) D<7<G5E>>= >G?LFGDO; 
B) ?5447>7<><; 
�) 6E5 4<EF<??<=. 
2. %>>D>EF=>-E<?>6O5 G?D46=5=<O, G?D46=5=<O =4 6O=>E?<6>EFL < 
E<?G <OL5G=OE 7DG?? E4D4>F5D<7GNF: 
A) D<7<G5E>GN ?>47>F>6?5==>EFL EFG45=F4; 
�) D<7<>?>7<G5E>GN ?>47>F>6?5==>EFL EFG45=F4; 
B) ?E<E<G5E>GN ?>47>F>6?5==>EFL EFG45=F4; 
�) ?E<E>-D<7<>?>7<G5E>GN ?>47>F>6?5==>EFL EFG45=F4. 
3. $57G?OD=>EFL 74=OF<=, D4F<>=4?L=>5 G5D54>64=<5 =47DG7>> < >F4OE4 
4 MF> ?D<=F<?: 
A) 4>EFG?=>EF<; 
�)4<=4<<G=>EF<; 
B) E<EF5<4F<G=>EF<; 
�) ?5D<>4<G=>EF<. 
4. � ED54EF64< D<7<G5E>>7> 6>E?<F4=<O >F=>EOFEO: 
�) D<7<G5E><5 G?D46=5=<O; 
�) 46<74F5?L=O5 45=EF6<O; 
�) FDG4>6O5 45=EF6<O; 
�) 6E5 ?5D5G<E?5==>5. 
5. �7D>6>=, E>D56=>64F5?L=O= <5F>4O >F=>EOFEO: 
A) > <5F>4G E?>DF<6=>7> 6>E?<F4=<O; 
�) <5F>4G D<7<G5E>>7> 6>E?<F4=<O; 
B) <5F>4G ?E<E<G5E>>7> 6>E?<F4=<O; 
�) <5F>4G D<7<G5E>>7> D476<F<O. 
6. �D>EF46LF5 MF4?O >5GG5=<O 46<65=<O< 6 >?D545?5==>= ?>E?54>64F5?L=>EF<: 
A) D>D<<D>64=<5 46<74F5?L=>7> G<5=<O, G7?G5?U==>5 45F4?<7<D>64==>5  
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B) 2 D47GG<64=<5; 
�) D>D<<D>64=<5 46<74F5?L=>7> =46O>4, 4>EF<65=<5 <4EF5DEF64; 
C) >7=4>><?5=<5, ?5D6>=4G4?L=>5 D47GG<64=<5 46<65=<O. 
 �) =5F ?D46<?L=>7> >F65F4. 
7. �5M4O D<7<G5E>4O ?>47>F>6>4 (�$�) - MF>: 
A) ?D>F5EE =>D<4?L=>= 6<7=545OF5?L=>EF< G5?>65>4; 
�) ?D>F5EE E>65DL5=EF6>64=<O 46<74F5?L=OE D<7<G5E><E >4G5EF6; 
B) ?D>F5EE >6?445=<O G<5=<5< D4EE?45?OFLEO; 
�) ?D>F5EE >74>D>6?5=<O D<7<G5E>>= ?4F>?>7<5=. 
8. �5OG=>= =>D<>= =>G=>7> E=4 EFG45=F4 EG<F45FEO 
A) 7 - 8 G4E>6; 
�) 5-6 G4E>6; 
B) 3- 4 G4E4; 
�) 10-12 G4E>6. 
9. �5D64O FD5=<D>6>G=4O 7>=4 <=F5=E<6=>EF< =47DG7>< E4D4>F5D<7G5FEO '%%: 
A) 4> 130 G4/<<=.; 
�) >F 130 4> 150 G44D>6 6 <<=.; 
B) >F 150 4> 180 G44D>6 6 <<=.; 
�) >F 180 4> 200 G44D>6 6 <<=. 
10. '<5=LL5=<5 =4?DO65=<O <OL5G=OE 6>?>>>=, E>EF46?ONM<E <OLFG - MF>: 
A) 74>D5?>M5=<5 <OLF; 
�) D4EE?45?5=<5 <OLF; 
B) G65?<G5=<5 <4EEO <OLF; 
�) E>>D4M5=<5 <OL5G=OE 6>?>>>=. 
11. -DD5>F<6=>5 ED54EF6> 6>EEF4=>6?5=<O D45>F>E?>E>5=>EF< -MF>: 
A) <4EE46, >>=FD4EF=O= 4GL; 
�) 7<7<5=4 >4564O < >5G6<; 
B) GE>4 74 ?>?>EFLN DF4 < 7G54<<; 
�) 74>D>6O= >5D47 6<7=<. 
12. �<G=4O 7<7<5=4 6>?NG45F: 
A) E>5?N45=<5 D4E?>DO4>4 4=O; 
�) GE>4 74 F5?><; 
B) <E?>?L7>64=<5 >4564O < >5G6<, =5 >>47O64NM5= 6D54=>7> 6>745=EF6<O =4 
>D74=<7<; 
�) 6E5 ?5D5G<E?5==>5. 
13. �?46=>5 ?D46<?> ?>?=>F5==>7> ?<F4=<O =5 <5=55 
A) >4=>7> D474 6 45=L; 
�) 2 - 3 D474 6 45=L; 
B) 3-4 D474 6 45=L; 
�) 4-5 D47 6 45=L. 
14. �D>F5EE ?E<E>D<7<G5E>>= ?>47>F>6>< > 5G4GM5= ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 
=47O645FEO: 
A) ?D>D5EE<>=4?L=4O ?>47>F>6>4; 
�) ?D>D5EE<>=4?L=>-?D<>?44=4O ?>47>F>6>4; 
B) ?D>D5EE<>=4?L=>-?D<>?44=4O D<7<G5E>4O ?>47>F>6>4; 
�) E?>DF<6=> - F5E=<G5E>4O ?>47>F>6>4. 
15. �>=OF<5, >FD464NM55 ?D<>?44=GN =4?D46?5==>EFL D<7<G5E>>7> 6>E?<F4=<O: 
A) D<7<G5E>>5 6>E?<F4=<5; 
�) D<7<G5E>>5 E>EF>O=<5; 
B) D<7<G5E>4O ?>47>F>6>4; 
�) D<7<G5E>4O =47DG7>4. 
�>4G?L 7. �5F>4<>4 ?D>6545=<O ?D><76>4EF65==>= 7<<=4EF<><. 
1) �<<=4EF<>4 ?D>6>4<<4O 4> >E=>6=OE 74=OF<= =47O645FEO? 
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A. 66>4=4O; 
�. 74DO4>4; 
B. D47<<=>4; 
�. =4EFD>=>4. 
2) $45>F>E?>E>5=>EFL 6 =4G4?5 GG55=>7> 4=O 5O645F? 
A. ?>=<65==>=; 
�. =4G4?L=>=; 
B. ?>6OL5==>=; 
�. 66>4=>=. 
3) �5M55 DG>>6>4EF6> 7<<=4EF<>>= 6>7?4745FEO =4? 
A. GG<F5?O D<7<G5E>>= >G?LFGDO; 
�. 4<D5>F>D4 L>>?O; 
B. 746GG4 L>>?O; 
�. >?4EE=>7> DG>>6>4<F5?O. 
4) �5D6>5 G?D46=5=<5 66>4=>= 7<<=4EF<><, >4> ?D46<?>? 
A. ?>FO7<64=<5; 
�. ?DO6>< =4 <5EF5; 
B. <4E< DG>4<<; 
�. =4>?>=O 6?5D54. 
5) �><??5>EO G?D46=5=<=, ?>4>5D4==O5 4?O D<7>G?LFGD=>= <<=GF>< 4>?6=O 
6>?NG4FL 6 E55O 46<74F5?L=O5 45=EF6<O? 
A. >F?<G4NM<5EO >F 46<65=<=, 6O?>?=O5<OE =4 GD>>5; 
�. ?>6F>DOFL 46<65=<O, 6O?>?=O5<O5 =4 GD>>5; 
B. <<5FL E?>DF<6=GN =4?D46?5==>EFL; 
�. ??46=O5, G<5D5==>= <=F5=E<6=>EF<. 
6) � D<7>G?LFGD=O5 ?4G7O <>7GF 5OFL 6>?NG5=O? 
A. ?DO6>< < ?>46<6=O5 <7DO; 
�. ??464=<5 < 7<<=4EF<>4; 
B. >5M5D476<64NM<5 < E?5F<4?L=O5 G?D46=5=<O; 
�. G?D46=5=<O 654GM57> 6<44 E?>DF4. 
7) '5< 5>?LL5 D<7<G5E>4O =47DG7>4 6 ?D>F5EE5 FDG44, F5< 5>?LL<= G45?L=O= 65E 6 
>><??5>E5 4>?6=O 74=<<4FL G?D46=5=<O =4? 
A. D4EE?45?5=<5; 
�. 7<5>>EFL; 
B. E<?G; 
�. <7><5FD<N. 
8) $<7<G5E><5 G?D46=5=<O < ?>46<6=O5 <7DO =4 G4?<=5==OE ?5D5<5=4E 
>D74=<7GNFEO >4> <5D>?D<OF<5 4>F<6=>7> >F4OE4 E F5?LN? 
A. E=<65=<O GF><?5=<O; 
�. ?>6OL5=<O D<7<G5E>>= ?>47>F>6><; 
B. ?>6OL5=<O E?>DF<6=OE D57G?LF4F>6; 
�. ?>47>F>6>< > E44G5 =>D<4F<6>6. 
9) �4=OF<O E?>DF<6=>7> G4E4 4>?6=O 5OFL D47=>>5D47=O<< ?> E4D4>F5DG < 
<=F5=E<6=>EF<, 4>EFG?=O<< < ?D>6>4<FLEO, >4> ?D46<?>, =4 >F>DOF>< 6>74GE5 < 
<<5FL =4?D46?5==>EFL? 
A. >74>D>6<F5?L=GN; 
�. 6>E?<F4F5?L=GN; 
B. >5D47>64F5?L=GN; 
�. E?>DF<6=GN. 
10) �D74=<74F<>==GN < <5F>4<G5E>GN ?><>ML 6>E?<F4F5?O< 6 ?>47>F>6>5 < 
?D>6545=<< 74=OF<= >>47O64NF? 
A. GG<F5?O D<7<G5E>>= >G?LFGDO; 
�. FD5=5DO ?> 6<4G E?>DF4; 
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B. <5F>4<EFO D<7>G?LFGDO; 
�. <=EFDG>F>D4 ?> D<7>G?LFGD5. 
11) �<<=4EF<>4 - -&�... 
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3. �444G< �$�: >5D47>64F5?L=O5, >>DD5>F<>==O5, >74>D>6<F5?L=O5, 
6>E?<F4F5?L=O5. 
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14. �>>474=<O > <E?>?L7>64=<N >FO7>M5=<= G 45F5= E >DF>?54<G5E><<< 

745>?564=<O<<. 
15. �E>55==>EF< ?>EFD>5=<O GD>>4 4?O 45F5= E >DF>?54<G5E><<< 745>?564=<O<<. 
16. �E>55==>EF< ?D<<5=5=<O ED54EF6 �$� G 45F5= E >DF>?54<G5E><<< 
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«>F?<G=>» - EFG45=F ?>>47O645F 7?G5>><5 >E>7=4==O5 7=4=<O ?> >E65M45<><G 
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